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‘The turning point of the graph = (x+a)? + b has x-coordin
(3.1) s another point on the graph.

‘Work out the y-coordinate of the turning point.
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13 Liquid A and liquid B are mixed to malke liquid C.

Liquid A has a density of T0kgfm’
Liquid A has a mass of 1400kg

Liquid B has a deasity of 280kg/’
Liquid B has a volume of 30m*

Work out the density of liquid C.
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15 The diagram shows a solid shape.
The shape i 2 cone on tp o 3 bemisphere.

The height ofthe cone i 10cm.
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13 The density of ethanol is 1.09 gem®
‘The density of propylene is 0.97 gl

60 ltres of ethanol are mixed with 128 ltres of propylene to make 188 litres of antifrceze.

Work out the density of the antifreeze.
Give your answer correct to 2 decimal places.
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